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QID : 601 - which of these is NOT in the scope of economics?
T8 J DIF A1 3IRRA & SRR H 75T 82

Options:

1) distribution of wealth and income
& 3R 3T HT faazor
2) growth and development of the nations
P 1 32 SR R
3) election of the President/ Prime Minister of the nation
AR & AFUFA/TUTTHR BT g1a
4) study of the causes of Price rise in the country.

U N ¥ gfg & HRUN BT 31eqg—|

Correct Answer: 3) election of the President/ Prime Minister of the nation

SR & PRI BT g1

Candidate Answer: 3) election of the President/ Prime Minister of the nation

SR & PUfA/IUTHA BT AT

QID : 602 - The basic problem of the economics is

IR B Yot THAT §
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Options:

1)  What to produce?
RN IATGA P2

2) How to produce
FY IATET B

3) For whom to produce

e fory I HT
4) All of these
0 O et

Correct Answer: 2) How to produce

Y I B

Candidate Answer: 4) All of these

399 9§ gt

QID : 603 - Economic problem is basically the problem of
e T Haa: feye! T 82
Options:

1) Choice
TG DI

2) demand of the consumer
JuHIed & AT B

3) supply of the firms
! @ SYfef B

4) None of these

3T A BIS Tl

Correct Answer: 3) supply of the firms

Tl @ SYfef B

Candidate Answer: 1) Choice

gA1d Bl

QID : 604 - Who divided the economy into Micro and Macro economics?

IR B YA U4 Bepisd ey & forem fauiiora fosam?
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Options:

1) Adam smith
TeH Y

2) Alfred Marshall

AHS AR

3) Ragner Fisher
TR fhRR

4) Amarta Sen
3 I

Correct Answer: 3) Ragner Fisher

TR fpzR

Candidate Answer: 3) Ragner Fisher

IR fhR

QID : 605 - Production Possibility Curve will be a straight line if
JdTe YT Iob Tob Hielt T gt afe
Options:

1) Marginal opportunity cost is constant

AT 3R T fRR 3

2) Marginal opportunity cost is increasing

HrAid 3R ANTd 9¢ |1 8

3) Marginal opportunity cost is decreasing
7 SfawR ANTd HH 81 X! &

4) None of these

3T A BIS Tl

Correct Answer: 1) Marginal opportunity cost is constant

i SR arTd RR &

Candidate Answer: 1) Marginal opportunity cost is constant

feid raeR arTd RR &

QID : 606 - According to whom , “production possibility curve is the curve which depicts all the
combinations of such goods and services whose maximum amount can be produced with the help of
all the available factors and technology in the condition of full employment of factors.”

T IR, "IdTE YUTaT 5 I8 ash § ol T axgail 3R Jarsit & gt Tl &) gxifar g fom
Wwémﬂ%@ﬁwﬁ@ﬁﬁmﬁmwsﬁ?ﬁaﬁﬁﬁmﬁ
T S BT 71"
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Options:

1) P. Samuelson

. JquaaH

2) J. R. Hicks.

9. 3R, g

3) Adam Smith
TeH @y

4) David Ricardo

sfas Repret

Correct Answer: 1) P. Samuelson

0. Jquae

Candidate Answer: 3) Adam Smith
TsH Y

QID : 607 - the relationship between quantity demanded and price of a commodity is explained by
Tt avg @t AT B! AT 3R B & o e o) THATIT 7T §
Options:

1) Law of the state

XY hT hIA

2) Law of demand
w1 4|

3) Law of supply
3myfef &1 e

4) Law of production
Id1G o1 4g|

Correct Answer: 2) Law of demand

A %1 a8

Candidate Answer: 2) Law of demand

i &1 a9

QID : 608 - The relationship between price and quantity demanded is

P 3R HFT B AL & o9 JoY §
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Options:

1) Inverse

faens

2) Direct
uad
3) No relationship

EIRARGIET]
4) All of these
S 9 i

Correct Answer: 1) Inverse

faens

Candidate Answer: 1) Inverse

faens

QID : 609 - the elasticity of demand for necessary goods is
ATIRIH a3 o1 AN P A 8
Options:

1) less than one
T Hi A

2) more than one
TS 9 b

3) equaltoone
T & SRR

4) None of these

3T A BIS Tl

Correct Answer: 1) less than one

% 9 i we

Candidate Answer: 1) less than one

% I i &e

QID : 610 - Cardinal marginal utility approach assumes

HISTa Foid Iudifar efPeio arar @
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Options:

1) cardinal measurability of utility
SUAIRTAT BT HIfSTa A=

2) constancy of marginal utility of money
& Bt HAid IUARTAT B R

3) independence of utilities
RERIUGIEIEIRSRER])

4) All of these

10 9 gt

Correct Answer: 4) All of these

99 9§ gt

Candidate Answer: 4) All of these

399 9§ gt

QID : 611 - As per the Law of Diminishing Marginal Utility, when Marginal utility is zero, total utility is
Hara ST B | & SMER, e WAid ITAIRar I it 8, df oo STl gl &
Options:

1)  minimum

AdH

2) decreasing

&Y g §

3)  maximum
HiYDHaH

4) increasing

dedl 8

Correct Answer: 3) maximum

3IHTH

Candidate Answer: 3) maximum

3fIHTH

QID : 612 - In case of a right-angled indifference curve, goods are

TSI ISRl 9 b HIHS H, &8 §
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Options:

1)  Perfect substitutes of each other
T G & I fdshey

2) Perfect complements of each other

T TR & JUf kb

3) Notrelated to each other

% g | Tafyd et
4) All of these
10 9 gt

Correct Answer: 2) Perfect complements of each other

T TR & g0l [kh

Candidate Answer: 1) Perfect substitutes of each other

TH G & I0H fadhed

QID : 613 - MRTSIk=w/r=MPL/MPkrepresents

equilibriumMRT Slk=w/r=MPL/MPKUTQ{ I &l &
Options:

1) Producer’s equilibrium
At &1 dge

2) Consumer’s equilibrium

JUUIET HT Hga

3) Social equilibrium
qraTioidh e

4) Political

eI Tga

Correct Answer: 1) Producer’s equilibrium

[EEIGICARGRE]

Candidate Answer: 1) Producer’s equilibrium

[FEIGICARGRE]

QID : 614 - Production Function refers to

IdTe Bad &1 didd &



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Options:

1) Relationship between demand and supply
AT 3R SMYfef & ot ey

2) Relationship between input and output
ZYe 3R SHTITYE & o Yy

3) Cost accounting only
had ARTT A

4) Shifting of tax

CRECARIIBIGNYI

Correct Answer: 2) Relationship between input and output

Y 3R 3M13TYS & oF Tay

Candidate Answer: 2) Relationship between input and output

TYC 3R MTITYC & ad TaY

QID : 615 - In which type of production function all the factors are variable?
{9 UHR & e B d 9t FR& uRad-=id gid 82
Options:

1) Returns to scale
Y0 &1 gfad
2) Law of variable proportions
URad-=id SaTd &1 fFaw
3) Both Returns to scale and Law of variable proportions

YA &1 Ufdwd 3R gRad==ite suTd &1 fad gl

4) None of these

3T A BIS Tl

Correct Answer: 1) Returns to scale

UM &1 ufaea

Candidate Answer: 1) Returns to scale

TAM &7 ufawpd

QID : 616 - Total Cost is equal to

FA AT SRR §
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Options:

1) TVC/TFC
EEIRIEE}
2) TVC+TFC
ﬁaﬁ;ﬁe“rqqo—\tﬁ
3) TVC-TFC
Srardl-cium et
4) All of these
S 9 i

Correct Answer: 2) TVC+TFC

g+ Tt

Candidate Answer: 2) TVC+TFC

S+ St

QID : 617 - Long run Average Total Cost curve is saucer shaped due to

BT Sd Sl AT a5 T B SHTHR P 81 B BRI BIell &
Options:

1) Law of variable proportions
gRadRITe SruTd &1 o

2) Economies and diseconomies of scale
T B SrferawRimd SR fawfoat

3) Law of variable proportions and  Economies and diseconomies of scale both
uRadefe 3rard o1 faw 3R THM @t rferawyry iR fagnfaar

4) None of these

3T A BIS Tl

Correct Answer: 2) Economies and diseconomies of scale

THM 1 SforaRuTy iR fafaat

Candidate Answer: 2) Economies and diseconomies of scale

T Pt Srfegarumy 3R fagfaat

QID : 618 - ‘L’ shape of the average total cost curve is due to

3IId Fd AT G5b BT 'L' MBR BT HROT BT &2

GET IT ON
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Options:
1) Reserve capacity
SR &
2) Learning by doing
Hb HIET

3) Reserve capacity and Learning by doing both
SIRFET &FAT 3R PP TRGT G
None of these

3=|1?r BEIERG

Correct Answer: 3) Reserve capacity and Learning by doing both
SIRFEA &TAT 3R PP TSI G

Candidate Answer: 3) Reserve capacity and Learning by doing both
SIRFET &FAT 3R PP TRGT G

QID : 619 - Free entry and exit, large no. of buyers and sellers and homogenous products are the
characteristics of

3100 Taw 3R e, tharsit 3R fagsdrell @t a5t e duT IHET IS fawand §
Options:

1)  Monopoly

THIYBR

2) Oligopoly

3)  Monopsony

4) Perfect competition

quf wferifir

Correct Answer: 4) Perfect competition

qof wfrfiaT
Candidate Answer: 4) Perfect competition

e R

QID : 620 - Which among the following is not true?

a8 @ o9 a1 aa T8 82
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Options:

1) TR=PQ
AR =g
2) MR=dTR/dQ
THIR=8ICISR/SIHY
3) AR=TRQ
TR = SR/,
4) None of these

TR A DI 7

Correct Answer: 4) None of these

T A BIE W 7

Candidate Answer: 4) None of these

T A IS i el

QID : 621 - The demand curve a monopolist face is

UHIIBRATE! B fT UHR & HITT agh BT TTHAT BT TSl 872
Options:

1) Ahorizontal line
Tep ot v
2) Downward sloping line
9t 3R 3 g5
3) Upward sloping line
SW B 3R P! g
4) \Vertical line

Seafer Y@

Correct Answer: 2) Downward sloping line

2 o g g8 X

Candidate Answer: 4) \Vertical line

Feafer Y&

QID : 622 - Which of the statements are true?

T8 A BN T HY T 22
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Options:

1) Product differentiation is a feature of monopolistic competition
I fane THieRard ufaedyl $1 T favid §

2) There are two sellers in a duopoly model

Sl Afea & < bt B ¥

3) A monopolist does not have a supply curve

U USIRPRATE! b U 3 aeh el el &
4) All of these
S 9 i

Correct Answer: 4) All of these

99 9§ gt

Candidate Answer: 4) All of these

399 9§ gt

QID : 623 - In an oligopolistic market, there is/ are
% ISR SR H, 8/
Options:

1)  Large number of sellers
[EEGIEIEIESIRSEC!

2) Only one seller
&Had Teb fdshdl

3) Afewsellers
$S faopd

4) No seller, only buyer

BIS fashel eT, Phad TIER

Correct Answer: 3) Afew sellers

$S fadhar

Candidate Answer: 3) Afew sellers

$S fadhar

QID : 624 - Under Cournot’s model of duopoly, each producer produces

Flc & gefuifeRe Hisd & ded, T® AT SUIGH Hedl §
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Options:

1) Half of the total market demand
S ISR HITT b7 1T
2) One third of the total market demand
el STAR |1 H1 T fgTs
3) One fourth of the total market demand
T SR TR BT TH TS
4) One fifth of the total market demand
$d SR A $T Uraal e

Correct Answer: 2)  One third of the total market demand

el STOR |17 $1 TP fgTs

Candidate Answer: 3) One fourth of the total market demand

T TR TR BT TH A5

QID : 625 - In classical view rent arises due to

TR =D T fhaP BRI Bl 872

Options:
1)  Scarcity of land
Hi# Bt Bl
2) Difference in quality of land
il St T[ora1 F 3R

3) Scarcity of land and Difference in quality of land both
T BT B SR YA B H gl

4) None of these

3§ BIS e

Correct Answer: 3) Scarcity of land and Difference in quality of land both
oty 5 it OIR fty 3 ot Y

Candidate Answer: 2) Difference in quality of land

YfH & oraar § 3R

QID : 626 - The method of collective bargaining refers to:

e Trear Bt fafy I ared &
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Options:

1) Negotiations between Employer, workers and Government

foiiaa, fie IR BRI Ul & o aradial

2) Negotiations between Employers and the Government

e 3R RPHR & s Jradid |

3) Negotiations between Employer’s representative and Trade union’s Representative.
fiiaan & wfafafdr ofik <8 gfae & Ufaffy & o aragd

4) Negotiations between Employer, and Customers.

et 3R Ut & o1 Sa<id|

Correct Answer: 3) Negotiations between Employer’s representative and Trade union’s
Representative.

e & ufaffy ofk ¢ gfa & ufaff & o sraeia

Candidate Answer: 1) Negotiations between Employer, workers and Government

e, 4t SR WeRI ufafafy & o Sadial

QID : 627 - Who said, “profits are a dynamic surplus.”

g PeT, "HThT Ueb Tt SRy g1
Options:

1) Representative.

. &t FH
2) F. H. Night

T T3 8

3) schumpeter

gty

4) Stigler

Correct Answer: 1) Representative.

S, ol I

Candidate Answer: 3) schumpeter

gty

QID : 628 - Who among the following viewed profit as a reward for uncertainty bearing?

fFafafea d T e oy &) sfafyaar T8 & ufawd & U H T

GET IT ON
Google Play
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Options:

1) F.H. Knight
Uh.Td. qIkC

2) J.B.Clark
EKIACSIED

3) Amartya Sen

3 I

4) Schumpeter

Correct Answer: 1) F.H. Knight
T, T, [I5c

Candidate Answer: 1) F.H. Knight
Th.UH. AIgC

QID : 629 - Innovation theory of profit was propounded by
Y BT AqYac Rigid fhdd gRT Ufduriad foar mar 412
Options:

1)  F. H. Knight
U, Td. qIkc

2) J.B.Clark
EACIACNICE

3) J.Bhagawati

. HITadt
4) J. Schumpeter

o gHiteR

Correct Answer: 4) J. Schumpeter

& e

Candidate Answer: 4) J. Schumpeter

o grEfieR

QID : 630 - Who among the following has divided the risk into insurable and non insurable risks?

fFrofafed & 9 fem Sifem o1 o divg ofk IR e aiva St § faord fear g2
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Options:

1) F. H. Knight
. Td. qIkE

2) A. Marshall
T O

3) Ricardo
f@ret

4) J. Shumpeter

. TR

Correct Answer: 1) F. H. Knight
T, T, FIgC

Candidate Answer: 3) Ricardo

Reprat

QID : 631 - Which sector produces goods and services for the satisfaction of households’ wants?
DI T & URARI BT Sa=gHarstt &1 AP & e awgsft SR Jarsfi &1 IdTe HRdl 572
Options:

1) Government sector
WHRT &

2) Household sector

TR &

3) Producing sector

I &
4) External sector

CIGEE]

Correct Answer: 3) Producing sector
I &

Candidate Answer: 3) Producing sector
e &

QID : 632 - The statement, “Supply creates its own demand” is attributed to —

g HYF, "3ATYf Ut 7T W FAftfa vt 8" 1 S fear S ® -
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Options:

1) J M Keynes

S TH B

2) Paul Samuelson
IR ERET

3) J B Say

ECIES]

4) James Mill

o e

Correct Answer: 3) JB Say
EECIES]

Candidate Answer: 3) J B Say
EECIR

QID : 633 - According to Keynesian multiplier model if the value of MPC is 0.8 then what would be the
value of output multiplier?

PRIG UG HSd & AR IfE MPC &1 A 0.8 § F ATITYE U1 &1 HTH &1 gRTT?

Options:

Correct Answer: 3) 5

Candidate Answer: 3) 5

QID : 634 - A decrease in marginal propensity to consume will —

Hiid IuHT ughi § ot -
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Options:

1) Decrease the overall aggregate demand of the economy

SrfeaRy & G i A Bt

2) Lead to decrease in the equilibrium level of income or output

3T T 3T3TYE & Yo wR T HHt

3) "Decrease the overall aggregate demand of the economy" and "Lead to decrease in the equilibrium
level of income or output" both

(TR Bt Hol AT H HHT ) 3R (31T AT 3M3CYE & Igad TR § Ht ) Gt

4) Neither "Decrease the overall aggregate demand of the economy

" nor "Lead to decrease in the equilibrium level of income or output"

T (STt H Fa AT H HH ) SR T E (M AT 3TFTYE &b Agar WR & Bt

Correct Answer: 3) "Decrease the overall aggregate demand of the economy" and "Lead to
decrease in the equilibrium level of income or output" both

(rfTaRT Bt ot AT H HHT ) 3R (31T T 3M3eYE & Idad TR H wt ) Gt

Candidate Answer: 3) "Decrease the overall aggregate demand of the economy" and "Lead to
decrease in the equilibrium level of income or output" both

(IR Bt Hol AT H HHT ) 3R (31 AT M3CYE & Igad TR J ST ) Gl

QID : 635 - The simple multiplier is calculated by the formula —
TR TUIh Y 0T G GRT BT STl © -

Options:

1) 1/1-MPS

2) 1/MPC + MPS

3) 1/1-MPC

4) MPC + MPS

Correct Answer: 3) 1/1-MPC

Candidate Answer: 4) MPC + MPS

QID : 636 - An inward shift in the Marginal Efficiency of Capital schedule would —

Uuit ST 1 HHAid & o Th 31 uRad- 4 g -
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Options:

1) Decrease Aggregate Demand
Y qiT |

2) Increase Consumption

ud ¥ gfa

3) Increase Aggregate Supply
Y 3mfd & gf

4) Accelerate Economic Growth

e A & aoft &

Correct Answer: 1) Decrease Aggregate Demand
Y qivT | HH

Candidate Answer: 1) Decrease Aggregate Demand
Y HiT H HH

QID : 637 - The Monetary Base is —
A SMUR g -

Options:

1) The sum of currency in circulation plus bank reserves held by Central Bank
Taa | ol 3R Agd o9 §RT W T S TRAad BT aRT

2) The sum of gold and foreign exchange held by the central bank

HE d GRT W MU A SR fae=h gar &1 am

3) The sum of real assets of the banking sector plus its net worth

ST &= 3T arRafds Fufy Sk IH®! Had Fufd &1 3

4) The currency in circulation

PERER:E

Correct Answer: 1) The sum of currency in circulation plus bank reserves held by Central Bank

Taad o GaT 3R AT o §RT I T S TR HT IR

Candidate Answer: 1) The sum of currency in circulation plus bank reserves held by Central Bank

Taa | ol 3R Agd o9 §RT W T S WRA&d BT IR

QID : 638 - Consider M = kPY equation of money demand. Now, suppose the actual money supply is
M* which is not equal to M; according to the neutrality principle, the variable that would adjust to
achieve equilibrium is —

¥ B TN & M = kPY JHIGRU W AR #31 3fd, AT Ao i arafads o Smgfd M* 8 St M & SRTaR
et ; dexal Rigid & 3R, 98 R S Iga T R & forg JHmfoTd g1 -
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Options:

Correct Answer: 4) P

Candidate Answer: 1) Y

QID : 639 - Which one of the following variables would be affected if the supply of money would
change?

e go1 Pt 3Mgfd sgd STl f FAufead # ¥ & a1 TR gyifdd grme

Options:

1) Standards of Living
EICEESH
2) Employment

3) Price Level
T IR

4) Real
grdfd® fae™

Correct Answer: 3) Price Level

A IR

Candidate Answer: 3) Price Level

Ted TR

QID : 640 - According to the dichotomy principle —

fguTe Rigid & 3 uR -
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Options:

1) Nominal variables do not affect real variables in the long-run
T TR A GG H aRAfaP @R B THIfad 81 PR §

2) Real variables do not affect nominal variables in the short-run
IRAMGS TR SfedTafy & ATHAE &R B YUIad T8l ad §

3) Nominal variables do not affect real variables in the short-run
AT TR Aty H IRAafde® °9R B UId T8l & &

4) Real variables do not affect nominal variables in the long run

IRARS R A T B AT @R B UIRd e X &

Correct Answer: 1) Nominal variables do not affect real variables in the long-run

T TR A GG T aRdfad 9R B UHIad el i &

Candidate Answer: 2) Real variables do not affect nominal variables in the short-run

I =R Sfearafy H ArHHE TR B YHIad T B §

QID : 641 - The precautionary demand for money is —
o1 F Tgfaarh A R -
Options:

1) An active balance

T Hichy QY

2) An idle balance

LCARI R

3) Inversely related to income

31Y W fIwRid &9 ¥ Haifdd

4) Directly related to interest rates

e sareT o= 3§ gefda

Correct Answer: 2) An idle balance

T Fiwpa QY

Candidate Answer: 1) An active balance

T Hishg A

QID : 642 - Bank Rate in India is decided by —

YRA H d R Feifd 811 8 -
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Options:

1) State Bank of India

YR W §F gRI

2) Central Bank of India

3) Reserve Bank of India

YR Retd o gRT

4) Ministry of Finance, Government of India
fad T3, YR DR gRI

Correct Answer: 3) Reserve Bank of India

YR oid § gRT

Candidate Answer: 3) Reserve Bank of India

RO oid § gRT

QID : 643 - Increase in Cash Reserve Ratio (CRR) by Reserve Bank of India implies —
HRTG Rod S GRT e SRIET 3HUTd (RR) & gfS o7 a1 § -
Options:

1) Commercial Banks will have more money to lend
TS St & UM JUR <A & T iferes Um g
2) Commercial Banks will have less money to lend
IS St & UM JUR <A & fore & Tm g

3) Decrease in the foreign exchange reserve of RBI
ReteimE % fageh gar Her o wht

4) Decrease in the gold reserve of commercial banks

IO St & Wof HeR & HHt

Correct Answer: 2) Commercial Banks will have less money to lend

e ST & U IUR 21 F forw &w 91 g

Candidate Answer: 2) Commercial Banks will have less money to lend

IO Sebt & U IUR 2 & frw & T e

QID : 644 - The interest rate which banks get for parking their short-term excess liquidity with
Reserve bank of India is called —

g TS <X il Sl T 3T cUbIferd HfRad dieldl &) HRAR Rold S & U SfHT B & forw
forerct §, Peamdl © -
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Options:

1) Repo Rate

W R

2) Reverse Repo Rate
BEREEIEA

3) Bank Rate

9% &

4) Liquidity Rate
AdRAdl &)

Correct Answer: 2) Reverse Repo Rate

fRad ¥R

Candidate Answer: 1) Repo Rate
MR

QID : 645 - Who is the Central monetary authority in India?
YRA & S Hifsd WRBR0 I 52
Options:

1) President

2) Parliament

RN

3) Reserve Bank of India

YReg Rod 9

4) Ministry of Finance, Government of India
for HATerd, YR DR

Correct Answer: 3) Reserve Bank of India

R Rold o

Candidate Answer: 3) Reserve Bank of India

YR Ro/d dp

QID : 646 - The monetary policy of Reserve Bank of India targets which of the following Inflation
Index?

YReTg Reid S @t Aifge Hifa Fafied § 3 ey gerwifa geeis o aféd s 82
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Options:

1) Wholesale Price Index (WPI)

Ui el YEbich (SIS

2) Consumer Price Index (CPI) Rural
U G Gahis (ATdeirs) arHior

3) Consumer Price Index (CPI) Combined
ST G GDIH (Hairs) T

4)  Consumer Food Price Index (CFPI)
U AT Jod qaH1d (ATTHUISTE)

Correct Answer: 3) Consumer Price Index (CPI) Combined

U Hed Yol (HdTis) Tger

Candidate Answer: 3) Consumer Price Index (CPI) Combined

U Hed Yol (HdT(Ts) Tger

QID : 647 - Read the following statements regarding the Monetary Policy Committee (MPC) in India.
1. It is statutorily mandated to determine the Policy Rate required to achieve the inflation target 2. A
Member of Parliament or any State Legislature cannot be appointed as a member of MPC by Central
Government. Which of the statements given above is/are correct?

R & Mg Hfa afiifa @) & ey & Fofafed $3F ue | 1. JaRwifa ded &) U $R4 & fag
mazge Hifa @R Fuifa w1 dufRe U § sifver g 2. et I9e o frdt = faurvsd & gew
aﬁéﬁ;gnmmﬁ;ﬁ%w%mﬁﬁgaﬁﬁmww%wﬁuwaﬁaﬁrﬁ@raﬁqw
I e 8/e?

Options:

1) 1 only

&Had 1

2) 2 only

&Hdd 2

3) 1 and 2 both

1 3R 2 gF

4) Neither 1 nor 2
T RAG 2

Correct Answer: 3) 1 and 2 both

1 3R 2 AT

Candidate Answer: 1) 1 only

Had 1
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QID : 648 - Which of the following institution (s) is/are eligible to raise money from or park excess
money with the Reserve Bank of India (RBI) under Liquidity Adjustment Facility (LAF)? 1. Regional
Rural Banks 2. Primary Dealers 3. Scheduled Commercial Banks Select the correct answer using the
number given below.

frafeiaa & @ ®F T TR cRed FHTESH YA (TATTh) & ded HRA Rord s (3ReEtss) F ¢
e a1 3% U Hfafad ¢ Ut B & forg U /87 1. &g Ao S 2. i e 3.
I Ao de T foT 7T AaR &1 IuTNT R Tt ST |

Options:

1) 1 only

&Had 1

2) 1 and 2 only
Fad 1 AR

3)2 and 3 only
Fad 2 AR 3
4)(@) 1,2and3
1,2 3R 3

Correct Answer: 3) 2 and 3 only

Fad 2 3R 3

Candidate Answer: 1) 1 only

Had 1

QID : 649 - Wisemen-Peacock hypotheses supports the possibility of

JITE-Tiehids TR foradst TUTEHT BT JHYT Rl §
Options:

1) An upward trend in public expenditure
Trasid o9 B gfg &1 ugh

2) A downward trend in public expenditure
Hrdui-e & | fiRm@e &1 ugha

3) A constancy of public expenditure

IS g @) fRRT
4) A mixed trend

EARECREIS

Correct Answer: 1) An upward trend in public expenditure

e oy # gfs &1 ugf

Candidate Answer: 3) A constancy of public expenditure

Fravi-e g b fRRET
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QID : 650 - Who is the author of the book “The Theory of Public Finance”?

"g W 3T UfTeh Wi T & aGP DI o2
Options:

1) Daldon

ISE]

2) R.A.Musgrave
3R.UHEE

3) Adolf Wagnor
TSI TR

4) None of these

3T A DI T

Correct Answer: 2) R.A.Musgrave

IR TATT

Candidate Answer: 1) Daldon
ISE|

QID : 651 - The GST has different slab rates which includes

TS T S-S Wie a3 QM §
Options:

1) 10%,15%,20% & 25%
10%, 15%, 20% 31R 25%
2) 5%,12%,18% & 28%
5%, 12%, 18% 3fIX 28%
3) 2%,4%,8% & 16%
2%,4%,8% 3R 16%

4) 3%,9%,30% &50%
3%,9%,30% 3R 50%

Correct Answer: 2) 5%,12%,18% & 28%
5%, 12%, 18% 3R 28%

Candidate Answer: 2) 5%,12%,18% & 28%
5%, 12%, 18% 3R 28%

QID : 652 - Externality is

STRIAT §
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Options:

1) Only negative
APRIHD
2) Only Positive
&HId GHRIHD
3) Positive & Negative both
Hcmeldm 3R TSRS Gl
4) None of these

s?ﬁﬁﬁ'é?sﬁ

Correct Answer: 3) Positive & Negative both
JHRIAD 3R THRIAD Gl

Candidate Answer: 1) Only negative
DHad THRIHAD

QID : 653 - Wisemen-Peacock hypotheses on Public Expenditure consists of which of the following
elements

JraSh g WR dIgeri-Uleich URe«a-T FRafeRad # I fry da 3 -1 82

Options:

1) Displacement effect
oI g

2) Concentration effect
USRIl UHTd

3) Inspection effect
e gy

4) All of these

399 9§ gt

Correct Answer: 4) All of these

79 9 gt

Candidate Answer: 1) Displacement effect

forimgT gura

QID : 654 - If someone consumes an additional unit of food from a given amount, then all others will
have to reduce their consumption. The example is apt for which type of good?

e 1S T A AE I HivH Bt T SHfalkad SHTE BT IULNT 61 7, A 3 Tl Y 30t Wud A
FH-t gl T8 IeTeRY fhd UBR &1 axgeil & forg Iugad 82
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Options:

1) Public Good
BIEHIECAGESIY
2) Private Good
[EEIGESY
3) Merit Good
Merit GRS Y

4) None of these

s?ﬁﬁﬁ'é?sﬁ

Correct Answer: 2) Private Good

[BEICESIY

Candidate Answer: 2) Private Good

[BRIERY

QID : 655 - Public goods are non- excludable if
IS Y 3rgdei 9 § afe
Options:

1) Some people cannot be prevented from consuming it

$S AN Bl SHBT Y B Y AT g1 off Faoell

2) Consumption by one person reduces consumption of other individuals
T Afad gRT SUHNT I GIR ATl Bt @Ud HH g ol §

3) Some people are excluded from consuming it

FS AN DI 3D T J qTeR W@ T §

4) All of these

10 O gt

Correct Answer: 1) Some people cannot be prevented from consuming it

FS AN DI SHBT G- B I BT g1 o Gabell

Candidate Answer: 1) Some people cannot be prevented from consuming it

$S AN DI SHBT Y DR Y AT g1 off Fabell

QID : 656 - A Tax that can be shifted is called

g P o) RIMTaRd a1 o Jobar §, Heardl &

GET IT ON
Google Play
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Options:

1) Direct Tax
RGN

2) Progressive Tax
LIRS

3) Indirect Tax
STYYE PR

4) Regressive Tax

gfae R

Correct Answer: 3) Indirect Tax
STUTE hR

Candidate Answer: 3) Indirect Tax
ST HR

QID : 657 - When Ed=« or Es=0,the whole incidence is on
T Ed== T Es=0, A Tl FHR YR S T+ HRl §
Options:

1) Buyers
TIER
2) Sellers
ICE|

3) Government
TRDHR
4) None of these

3T A BIS Tl

Correct Answer: 2) Sellers

fagear

Candidate Answer: 1) Buyers

TR

QID : 658 - “The Government which taxes the least is the best” is the believe of

S TRPR TI HH PR T 8, 98 FaraH 8" b AT &

GET IT ON
Google Play
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Options:

1) Mercantilists
ClLRICI

2) Physiocrats

3) Morden
Hred

4) Classicals

fRawd

Correct Answer: 4) Classicals

g

Candidate Answer: 1) Mercantilists

qIfregdig

QID : 659 - Which one of the following is not a method for redeeming Public debt
frafafad & 9 S a1 grdofe F01 B YA 3 U Al T8 7
Options:

1) Sinking Fund

SEGINEID]

2) Capital Levy
PEIAEIl

3) Terminal Annuities
< arSifeat

4) Grants in aid
Herdl 3fdald

Correct Answer: 4) Grants in aid

HerAdl 3{a

Candidate Answer: 4) Grants in aid

HerAdl 3faH

QID : 660 - Principle of neutrality holds that

Te=ydl 1 Rigid T8 AT 3

GET IT ON
Google Play
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Options:

1) People should bear tax burden in line with their ability to pay

AT T YA H=A D &l b SHIEY B BT digl ST Aoy

2) People should bear tax burden in proportion to benefits received from government expenditures
A D! BRI Y Y U Y & SUTd T B b1 Sl IS AT

3) The most efficient taxes are broad- based taxes that do not distort economic decisions

4) All of these

10 9 gt

Correct Answer: 3) The most efficient taxes are broad- based taxes that do not distort economic
decisions

Candidate Answer: 3) The most efficient taxes are broad- based taxes that do not distort economic
decisions

QID : 661 - What does the term "sustainable development" refer to?
. "gad fasrT Weg &1 dread o1 82
Options:

1) Rapid economic growth without considering environmental impacts

THiaRoN guyTal R AR foe famn da snfdfe fawma

2) . Balancing economic, social, and environmental aspects for present and future generations.
A SR Higsy &1 difeadl & forg snfdfes, armmfSies sk wafaRufia ugqeht &1 Tqferd &

3) Focusing solely on environmental protection at the cost of economic progress

3M1fes TTf 1 B TR $Had GATaRul SRE0T TR ST dbisd DIl

4) Exploiting natural resources without any regard for future consequences.

Yfqwr o gRumdl &t tRaTg T fa1 Uiepfoes Sa1eH o1 Gl &l

Correct Answer: 2) . Balancing economic, social, and environmental aspects for present and future
generations.

IdaH 3R Higsy o1 difgal & forg onfifes, ammfSies sk wafaRofia ugqeht & Tqferd &

Candidate Answer: 2) . Balancing economic, social, and environmental aspects for present and
future generations.

A SR Higsy &1 difgal & forg onfdfes, armfoies oik wafaRofia ugqsht &1 Tqferd &

QID : 662 - . Which of the following is NOT one of the categories covered by the Sustainable
Development Goals (SDGs)?

Frofafad § 3 o Idd faerg aeat (Tadioh) grRT sraffed @ 73 Ao # ¥ e 181 872
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Options:

1) Health and Well-being

W 3R GRIgTelt

2) Gender Equality

IUGESEIERI
3) National Security

RIS YREA

4) Clean Water and Sanitation
. W3 I R egar

Correct Answer: 3) National Security

TP GR&f

Candidate Answer: 3) National Security

. TS GR&f

QID : 663 - What is the World Bank's definition of extreme poverty in 20227

3y S B AP TS B TRHTET 2022 F 1 82
Options:

1) A person living on less than $1.90 a day
TH Afad Ufdfed $1.90 SR ¥ HH TR Sia- 19 BT §
2) A person living on less than $3.20 a day
TF Afad Ufafed $3.20 SR ¥ HH WR Sfia 19 BT §

3) A person living on less than $4.50 a day
T Afad Udife $4.50 SIR § HH TR Sfia A0 ol §
4) A person living on less than $2.15 a day

T e Ufafed $2.15 SleR ¥ &1 TR Siia 10 ST &

Correct Answer: 4) A person living on less than $2.15 a day

T fad ufafed $2.15 SieR I 1 W Sildd IT0- HdT §

Candidate Answer: 2) A person living on less than $3.20 a day

U fad ufafe $3.20 SIeR T HH W Siigd IT0- HRdT &

QID : 664 - How can a country promote industrialization and economic growth?

PSS MEiepRur 3R 3fdfes faprg P HY Terar ¢ TobdT 872

GET IT ON
Google Play
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Options:

1) By exclusively supporting large multinational corporations.

ORI ¥U ¥ 73 Igugra ! &1 99 IR |

2) By discouraging foreign investment to protect domestic industries.

TR I b1 W&l &b forg faqeh a1 ginied =Tl

3) By providing incentives and subsidies to encourage investment and innovation.
a1 IR TR ST WdTed P & AT Ui SR Afeqst UgH HRa |

4) By limiting access to resources and technology.

TareET R Mt de uga Wit aRads |

Correct Answer: 3) By providing incentives and subsidies to encourage investment and innovation.

33 3R TR F! MidTfRd R & forT e 3R Ifeue! UeH #b |

Candidate Answer: 3) By providing incentives and subsidies to encourage investment and
innovation.

9% 3R TaER & MEfed B34 & T Uicie ik <! UeH &b |

QID : 665 - What is a key potential benefit of foreign direct investment (FDI) for an economy?

foreit srfeae & forg uer fag=ft fawr (FDI) &1 UiRe TyTfaa <y o g2
Options:

1) It always leads to a decrease in domestic employment.

T TR AR H gH=M H 3Mieht 3|

2) It can bring in technology, expertise, and access to global markets.
. T8 Mt faivwrar 3ik af¥yes SoIRY e Ugd o Wb & |

3) It discourages local entrepreneurship and innovation.

Ig RIFTT I 3R TAER I galicdlied HRal gl

4) It exclusively benefits the foreign investors without any advantages for the host country.

I8 ASE <% 1 B1S a1 ot o famiw = § fag=h Mo &1 ary ugardn 3

Correct Answer: 2) It can bring in technology, expertise, and access to global markets.

. T8 WafTe!, fa=ivmrar $iR af¥ie SIRT % Ugd o 9T ¢ |

Candidate Answer: 2) It can bring in technology, expertise, and access to global markets.

. T8 WAt fa=ivmrar siR af¥yes SIRT b Ugd o 9ol ¢ |

QID : 666 - According to Ragnor Nurkse, how can countries break free from the vicious circle of
poverty?

TR Th8 P ATIR, 3 e P oI I B Had 8 Jebdl 82



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Options:

1) By increasing population growth to boost labor supply

1 3T BT FgraT a7 & fore S gfs & gfs v |

2) By focusing solely on agricultural development.

HId BV [AHN R & Hicd b |

3) By implementing policies that promote higher savings, investment, and infrastructure development.
I g9, A% SR e o & faHmN &I Serat g arelt Hifaal &l I e |

4) By relying on foreign aid for long-term development.

Sda1fere faT & fou faeeft TermaT R AR W |

Correct Answer: 3) By implementing policies that promote higher savings, investment, and
infrastructure development.

I g9, A% SR FHaTE o & faHN &I SeraT g arelt Hifaal &l ] e |

Candidate Answer: 3) By implementing policies that promote higher savings, investment, and
infrastructure development.

I 9, AR SR §aret e/ & s &1 gerar 3 arelt Hifad &t e e |

QID : 667 - What is the fundamental difference between balanced and unbalanced growth models?
Tgferd ok sriqferd fasm Aisd & s gayd SidR o1 872
Options:

1) Balanced growth models focus on technological advancements, while unbalanced growth models

emphasize natural resource utilization.

Tgferd famT Aisd ddb-ie! T IR & Hisd $d 8, Safd SRIgfRd s Hisa wipfas gare=

ITINT R SR <A

2) Balanced growth models promote steady development across all sectors, while unbalanced growth

models prioritize rapid growth in specific sectors.

g famrg s aHt &l § RR 9T &I IgraT ¢d §, Seieh Srigfad e Aisd fafkiy &= & doft

3 fas™ &t urafiresar < g

3) Balanced growth models encourage small-scale enterprises, while unbalanced growth models

advocate for large-scale industrialization.

Hgferd faerg Aisd B THM & IeHl B UidTied I &, el SR f[aer Alsd dg UAM TR

SfIfiexor $1 adTad Hd & |

4) Balanced growth models are only applicable to developed countries, while unbalanced growth

models are tailored for developing nations.

ﬁﬁﬁgﬁﬁ%ﬁﬁwwmmaﬁ% & SRigad fas Aled fadmrRiTa oI & oy
fepg w1 ©

Correct Answer: 2) Balanced growth models promote steady development across all sectors, while
unbalanced growth models prioritize rapid growth in specific sectors.

Hgford faere Aisa Tt a3 & RRR e &1 9gra1 3d §, el srigferd fawm Aisa fafkrs &sf & aoft
3 fae™ &t rifiesar <d 8|
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Candidate Answer: 2) Balanced growth models promote steady development across all sectors,
while unbalanced growth models prioritize rapid growth in specific sectors.

qferd faera disa @it & 7 RR [ &1 sgmar 34 §, Safe sridferd faer Afsa fafy &=t o aof
3 fa™ &t rifiesar <d 8|

QID : 668 - What is the main idea behind Rodan's Big Push Theory?

A Bt F3T YgphT Rgid (3 g1 2R & e e faaR 1 82
Options:

1) The theory advocates for gradual and incremental economic development.

Ig Rigid wite iR gfgeiia sifdfe fawr & adrad &Ral g

2) The theory suggests that development requires a coordinated and simultaneous push across
multiple sectors.

Rigia Faman 8 f fawr & fou &% &= & 9ufad ok U W1y TR &1 S1a=adhdl gia 6|

3) The theory emphasizes the importance of foreign aid for economic growth.

g Rigia o fawmg & for fag=h Teraar & Hed R ek <ar &l

4) The theory proposes that population growth is the key driver of economic progress.

Rrgid &1 wkdma § o seien gfS snfifes vmifay &1 v arars &

Correct Answer: 2) The theory suggests that development requires a coordinated and
simultaneous push across multiple sectors.

Rigid ad1d1 & b fara & foru &< &3 # gafd 3R U 91y Uy &) Sawadhal 8id! |

Candidate Answer: 2) The theory suggests that development requires a coordinated and
simultaneous push across multiple sectors.

Rygid 9T © 7 faera & forw +2 &3 & grfad 3R T I v &t Saxashdl gidl &

QID : 669 - What does Marx's Labor Theory of Value propose?
Iﬂ'CR‘fWHWW o Rygia o U1 Rl 872
Options:

1) The value of a product is determined solely by its market demand.

foraft ITe o1 Jou It aRE A ST IR A § Fuikd giar g1

2) The value of a product is based on its intrinsic worth and quality.

Tt ITE &1 I I SMaReE Gedl 3R Toradl WR TR gl g

3) The value of a product is determined by the amount of labor required to produce it.
Tt I &1 I 9P Il o (AT aRgd 99 &1 A6 ¥ Fuid grar gl

4) The value of a product is determined by the level of advertising and promotion.

foreit IaTe; 1 Hew Ao ok TaR & TR & Fufika grar 81

Correct Answer: 3) The value of a product is determined by the amount of labor required to
produce it.

Tt I &1 I 39 Il o (AT 3TaRad 99 &1 A6 ¥ Fuid grar gl
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Candidate Answer: 2) The value of a product is based on its intrinsic worth and quality.

it ITE &1 I 3T SMaReE Jeol 3R Toradl W 3eTRd gl g

QID : 670 - According to Malthus, what is the relationship between population growth and food
supply?

AR & TR ST 3ig 3R @ Sy & o9 . day 572
Options:

1) Population growth has no impact on food supply.
SRS i T @ ST TR Y UHTT e US|

2) Food supply increases at a faster rate than population growth.
SRET gfg @t ga § e Smyfef eifies o § w8

3) Population growth tends to outstrip the growth of food production.
Qe 3Tl B o & S gfg Sifiie ot § gt 81

4) Food supply is unrelated to population dynamics.

T Tt T STEReAT o= o H1g JaY el ¢

Correct Answer: 3) Population growth tends to outstrip the growth of food production.

W 3AMYfef &} g H SrRedt gi 31fie ot F gt g

Candidate Answer: 3) Population growth tends to outstrip the growth of food production.

TTE 3MYfcl Bt o B SERe gfg 3ifie doll A gt 81

QID : 671 - What is a potential advantage of economic planning?

e fas 1 THTfad oy T 872
Options:

1) It can guide economic activities toward long-term goals and address market failures.

Tg 3 Tfafafet o feeiers dedl 31 ok SR R THa1 § R SR 31 fawaarsi &1 g
I gl g

2) It ensures complete income equality among all citizens.

g gt ARt & offa gul s wHar gRfdd sRar g

3) It always leads to optimal resource allocation and efficiency.

g GHRN STAH T HTde 3R G&fdl i 3R o oIl g1

4) It eliminates the need for international trade and cooperation.

T8 SRISTT IR 3R TgINT B} SIRAHT BT FAT PR el 3

Correct Answer: 1) It can guide economic activities toward long-term goals and address market
failures.

g 3N Tiafafdt @1 ddmiias agdl 3 ik MR IR Iohdl § SR ITOR B fawbadisi &1 JHTem
CRESEXIR
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Candidate Answer: 1) It can guide economic activities toward long-term goals and address market
failures.

%m%;ﬁﬁ%ﬁwma@ﬁmﬁﬁmmw%ﬁwﬁﬁmﬁwww
PR YDA gl

QID : 672 - Adam Smith's theory of growth is often associated with the promotion of:
wsH Ry &1 far &1 Rigid s fgfeiea § Jergene:

Options:

1) Feudalism
HrHdarG

2) Socialism
REISEIH

3) Capitalism
4) Mercantilism

CILEEI

Correct Answer: 3) Capitalism

UEICIH

Candidate Answer: 3) Capitalism

Yuitare

QID : 673 - The theory of absolute cost advantage of international trade was developed by

3iTRISIT STUR & FRUSH AT oY o1 Rigid febdep gRT faep e fobam mam e
Options:

1) Ricardo

2) Pigou

3) Adam Smith
ey @y
4) Haberler

TRfR

Correct Answer: 3) Adam Smith

Tsq 1y

Candidate Answer: 3) Adam Smith
TeH ¥y
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QID : 674 - Heckscher- Ohlin theory is also known as
HRTR-3MgfeM Rigid &1 39 A & ot S o 8

Options:

1) Factor proportions analysis
HIYA3ATd fazasr
2) General Equilibrium theory
AT e fsid
3) Modern theory of international trade
RIS TR &1 sy Rt
4) All of these

399 9§ gt

Correct Answer: 4) All of these

79 9 gt

Candidate Answer: 3) Modern theory of international trade

SRIPIT TR 1 3nyfes Rigia

QID : 675 - The ratio between the prices of export and imports is called the

frafa ik smard &) Siudl & da & U B el ol 8

Options:

1)  Gross barter terms of trade
Iovd axq fafmg ord
2) Net barter terms of trade

IR &1 Y& a%q fafmg od

3) Income terms of trade
TR ST 3T ]l
4) None of these

T A IS T

Correct Answer: 2) Net barter terms of trade

IR & Y& a%q fafmg od

Candidate Answer: 4) None of these

T A BIE el

QID : 676 - The single factoral terms of trade was devised by

IR B! Thd TTHD W [P gRT IR b1 718 off?



https://applink.adda247.com/d/XhqWf9lSap
https://applink.adda247.com/d/XhqWf9lSap

Adda247

Options:

1) Viner
CIERK
2) Ricardo

fre!

3) Dorrance
SRY

4) Marshall

AT

Correct Answer: 1)  Viner

aER

Candidate Answer: 2) Ricardo

Reprat

QID : 677 - IMF was established in the year

IMF &1 19T fory a8 # g5 o7
Options:

1) 1946
1946
2) 1947
1947
3) 1950
1950
4) 1940
1940

Correct Answer: 1) 1946
1946

Candidate Answer: 1) 1946
1946

QID : 678 - The WTO was established under the

SIS B VTG fordids dgd &1 T8 2t?
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Options:

1) Marrakesh Agreement
TRIHRT GHSIdT
2) Hawaii Agreement

REIEREEIGI

3) Tokyo Agreement

4) None of these

39 A BIE Tl

Correct Answer: 1) Marrakesh Agreement

TRIHST U

Candidate Answer: 4) None of these

T A IS e

QID : 679 - What distinguishes a unicorn start-up from other start-ups?
T I WIC-3(U BT 3 WIC-3(U I HT AT PRl 62
Options:

1) Having a global presence

afye Suffa

2) Being publicly traded on the stock exchange

Wi TR IR e ©0 J HRITR {61 S 38T 8
3) Having a valuation exceeding $100 million

$100 fAfer ¥ 3ifeie &1 gedich gIHT

4) Having a valuation exceeding $1 billion

$1 faferm § 3iftres &1 geiep 1

Correct Answer: 4) Having a valuation exceeding $1 billion

$1 fofera 9 sifde &1 geaio g

Candidate Answer: 1) Having a global presence

Ay Iufufa g

QID : 680 - “Golden Revolution” is related to
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Options:

1) Pulses

e

2) Jute

kS

3) Horticulture & Honey
CIUCIETRCEN

4) Gold

T

Correct Answer: 3) Horticulture & Honey

CIUCIETRCEN

Candidate Answer: 3) Horticulture & Honey
CIUEIEI NG R

QID : 681 - Banking, Insurance and Tourism come under which sector of Indian Economy?
ofdsT, T SfR Tied YR srfcrawyt & g &7 & Siavid Sfd g2
Options:

1) Primary Sector
Tt &

2) Secondary Sector

fadias &=

3) Tertiary Sector

qcftg &

4) Both Primary & Secondary Sector
T IR Teafie gl &

Correct Answer: 3) Tertiary Sector

el &

Candidate Answer: 3) Tertiary Sector

CRIREE]

QID : 682 - Land reforms in India were primarily aimed at:

URA T YfH GURT &1 TBT 3= T:

GET IT ON
Google Play
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Options:

1) Nationalizing industries and businesses.

SN Td HTET BT AP ADR BT

2) Promoting urbanization and industrialization.

BB Td S fienRur ) Sgrar

3) Encouraging foreign investment in agriculture.

PN H fad=it Faw o idiied Bl

4) Redistributing land to landless farmers and reducing land inequalities.

YR feamt &t ity o7 gAfdaRor e SR Uiy srmmarstt & HF AT

Correct Answer: 4) Redistributing land to landless farmers and reducing land inequalities.

S framl &) Yfft &1 gAfdaror a1 SR Yffy Srmmarstt &) &1 BT

Candidate Answer: 4) Redistributing land to landless farmers and reducing land inequalities.

AR fami &t Yl &7 GAfaaRor a3 3R Ul SRmmarstt & &H HRAT|

QID : 683 - Which of the following combinations is correct?

frafiRad & © 319 a1 ¥aieH 98l 872
Options:
1) NABARD-------- Industrial Loan
TSN TE FHOT

2) RBI--------------- Long term Finance
KT O] ) — e faa
3) RRB-------==-=--- Agriculture Finance
3| R | A— F fad
4) IDBI-------m-=----- Short Term Loans

K1) G ] ) — Aty BT

Correct Answer: 3) RRB--------------- Agriculture Finance

S| N | | A— P fad

Candidate Answer: 4) IDBI--------------- Short Term Loans

1) ][] ) — JeaTafd HoT

QID : 684 - Which of the following is not an organized sector in India?

fafafad § 9 & 91 YR § T Infed & T8t 82
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Options:

1) Nationalized Banks
Rt S

2) Regional Rural Banks
&=t i §

3) Cooperative Banks
RRENICED

4) Money Lenders
AgPR

Correct Answer: 4) Money Lenders

qghR

Candidate Answer: 4) Money Lenders

RIREIN

QID : 685 - Which Country Contributed Maximum Foreign Direct Investment (FDI) inflow into India
during the Financial Year 2022-237?

forita o 2022-23 & GRM 5T 0 7 YR H 3ifimdw yaer fageh fawr (FoI) yare # arrer far
Options:

1) Mauritius
AR
2) Singapore

3) United Kingdom
g1scs fhmen

4) USA
JuHy

Correct Answer: 2) Singapore

fRgR

Candidate Answer: 2) Singapore

R

QID : 686 - What challenges are often associated with the unorganized sector in India?

YR T SRATSd &F & 1Y R DI It Al et Igat 62
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Options:

1) Formal regulation and monitoring.
=T fafae ofiRk AR

2) Lack of poverty and income inequality.
RIS 3R 31T SRAAT BT 3HTG|

3) Access to quality healthcare and education.
OG0T W G/ 3R R 9% uga|

4) Low wages, lack of social security, and poor working conditions.

HY ASIGE, TS TREM BT SUTT R WIS HrHdbTeT gRRUf |

Correct Answer: 4) Low wages, lack of social security, and poor working conditions.

HH ASIGL!, TS TREM BT HTT 3R TR HrHdbel gfRfRyfa|

Candidate Answer: 4) Low wages, lack of social security, and poor working conditions.

HY AVG], TS GR&T BT SUTT R TR HHGT gRIRUT|

QID : 687 - The "Green Box" subsidies under the WTO refer to:

WTO & 3iaid i aiea il &1 da g
Options:

1) Subsidies that cause significant trade distortions and are prohibited.

Tt GfySt ot eyl AUR fagfadl &1 SRl a9t § ¢k At g

2) Subsidies given to promote industrial growth.

NI fawT BT Sgrar 2 & forw Tfeyt s

3) Subsidies provided exclusively to developed countries.

Hfeqe! faRy wU ¥ faeRid X1 &1 UaH 31 &l g |

4) Subsidies provided for environmental protection and rural development, which are not subject to
reduction commitments.

TfaRU1 TREUT 3R AT fabTa & forw U ot o arel! Sfetel, St beld! Uidsediai & i T8 2|

Correct Answer: 4) Subsidies provided for environmental protection and rural development, which
are not subject to reduction commitments.

TYTaRUT TRETUT 3R ITHI0T fIpT & ot S &t o arcit Tfede!, Sl deldl Ufaagareh & i T8l ]

Candidate Answer: 4) Subsidies provided for environmental protection and rural development,
which are not subject to reduction commitments.

TGTaRUT TR&HUT 3R TTHIT fIhT & o U &) oI arelt Ifeuet, Sl et ufdegarsit & 3refia T8l 81

QID : 688 - As per the Economic Survey 2022-23, The central and state governments’ budgeted
expenditure on healthcare touched __ of GDP

3Mh T 2022-23 F IR, WY THHTA R 6% 3R IoT IRBR] BT Foic 377 Jbd TR IS
® I
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Options:
1) 1.6%
2)21%
3) 3.6%
4) 3.9%

Correct Answer: 2) 2.1%

Candidate Answer: 2) 2.1%

QID : 689 - According to the Economic Survey 2022-23, what Percentage of GDP is spent on
education sector of India?

gr%ﬁwzozz-zs%&w, YR BT RIET & TR Thdl IR 3G BT [T Hia=Td W ot sirar
?

Options:

1) About 2%
CTHIT 2%
2) About 3%
CTHIT 3%
3) About 4%
CTHIT 4%
4) About 5%
CTHIT 5%

Correct Answer: 2) About 3%
THIT 3%

Candidate Answer: 3) About 4%
STHIT 4%

QID : 690 - According to the Periodic Labour Force Survey (PLFS) 2021-22, the share of employed
labour force in agricultural sector of India was

AR 9T T TAEUT (PLFS) 2021-22 & AR, YR & SN & § Faiord @ 5 3! fRiery off:

Options:

Correct Answer: 2) 45.5%
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Candidate Answer: 1) 41.5%

QID : 691 - Which of the following statements is true about the service sector in India?

HRA H a1 @9 & TR H Fyfiad § ¥ o9 I1 HY= T4 82
Options:

1) It is the smallest contributor to employment in the country.
Ig o1 B AR H 9a9 Biel aneHed g

2) It primarily focuses on heavy industrial production.

Tg T =0 Y YR} 3N Iare W Hfgd B

3) It has shown slow growth over the past decades.

et arent & o ot af ot i B

4) It contributes about 30% of India’s GDP

TE YR B SNEIG F AT 30% BT TS el 8

Correct Answer: 1) ltis the smallest contributor to employment in the country.

78 A= B AR & T BleT ArTeradi 8|

Candidate Answer: 4) It contributes about 30% of India’s GDP
g URA $I SiTerdT T 30% HT IRTEH &dl §

QID : 692 - NITI Aayog aims to promote which important aspect of governance in India?

Hf ST &1 ded YR & WA & g AUl Uge & 9aTaT ol 82

Options:

1) Centralized decision-making

dHelpa FHug-ufear

2) Decentralized planning

[EEELKRIEE

3) Cooperative federalism

TEPR] Hudlg

4) Both "Decentralized planning" and "Cooperative federalism"

"I eIPpd Ao 3R "TEHRI Hudre" Gl

Correct Answer: 4) Both "Decentralized planning" and "Cooperative federalism"

"fqdeid T IR TeHRI Yudlg" gl

Candidate Answer: 4) Both "Decentralized planning" and "Cooperative federalism"

"I EIpd Ao 3R "HEHR! HHare” qHl

GET IT ON
Google Play
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QID : 693 - Which company has set up the first greenfield grain-based ethanol plant in Bihar?

frg Hu A fogR H uge Mwics M 3muTid sA-Ta a7 R foear g2

Options:

1) Eastern India Biofuels
Udf 4R g $eH

2) Bihar Biofuels

fogR ofa $em

3) Bihar Renewable Energy
fogR Fdieia Suf

4) India Glycols

YR TS DI

Correct Answer: 1) Eastern India Biofuels

Udf 4R od $eH

Candidate Answer: 3) Bihar Renewable Energy

fSBR Tty SHulf

QID : 694 - According to Bihar Economic Survey 2022-23, the Gross State Domestic Product (GSDP)
of Bihar at constant prices in 2021-22 recorded a robust growth of

fagR onfiies Tdermr 2022-23 F YR, 2021-22 H FRR F1Hdl R fTER & THd I9 TR 3G
et & aoigd gfS aol &1 182

Options:
1) 10.98
2)9.87
3)11.3
4)124

Correct Answer: 1) 10.98

Candidate Answer: 3) 11.3

QID : 695 - According to the Economic Survey of Bihar 2022-23, what is the per capita income of
Bihar at current prices in 2021-227

fagR & onffer qderur 2022-23 F AR, 2021-22 & NG HHal R R o ufa aafda sma fat 82
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Options:

1) Rs. 29,828
F.29,828
2) Rs. 49,272
T. 49,272
3) Rs. 34,314
F.34,314
4) Rs. 54,383
F. 54,383

Correct Answer: 4) Rs. 54,383
2. 54,383

Candidate Answer: 2) Rs. 49,272
2. 49,272

QID : 696 - Which of the following is not one of the three most prosperous districts of Bihar?
frafofea & @ @F 91 fgr & &9 ved 995 et & 9 ue =61 82
Options:

1) Patna
Ishl
2) Begusarai

SERE

3) Sitamarhi

e

4) Munger

Correct Answer: 3) Sitamarhi

RIGIEE]

Candidate Answer: 3) Sitamarhi

Hamet

QID : 697 - Which Average is affected most by extreme observations ?

DI T A1 TRA Yi ¥ aifre gHIfad giar g 2
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Options:

1) Mode

ERNED
2) Median
afereT
3) Arithmatic Mean
HHTAR A
4) Geometric Mean

t[Uﬁ?RIIT‘EH

Correct Answer: 3) Arithmatic Mean
HHTR {1

Candidate Answer: 3) Arithmatic Mean
HHR {1

QID : 698 - For a Normal Distribution -

Teh JHIHT 1 T faaror & forg -
Options:

1) Quartile Deviation>Mean Deviation
TS fqaa->are fage

2) Quartile Deviation = Mean Deviation
TGP faaa-=ared faereq

3) Quartic Deviation< Mean Deviation

TGS fqaa-<mre fage

4) None of these

3T A BIS Tl

Correct Answer: 2) Quartile Deviation = Mean Deviation

gy fade=mre famrer

Candidate Answer: 1) Quartile Deviation>Mean Deviation

TquS fqaa->are fage

QID : 699 - Correlation means-

e BT AU § -
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Options:

1) Cause and Effect relationship between the variables.

R H RO Td GRUTH BT Y& g1

2) Change in one variable accompanied by a change in other variable.
RN T A1y 1Y gRacH g1

3) Mutual dependence between the variables.

R A RER LR &7 s

4) None of these

3T A BIS Tl

Correct Answer: 2) Change in one variable accompanied by a change in other variable.

R A 1Y 1Y gRad g

Candidate Answer: 2) Change in one variable accompanied by a change in other variable.

R Y iy uRad= g

QID : 700 - In case of two variables these will be only one regression line, if

3 R P RUfY & Fad tes & Udom Xan gt e -

Options:
1)r=0
2)r=+1
3)r=-1
4)r=41

Correct Answer: 4) r=+1

Candidate Answer: 4) r = +1

QID : 701 - Which of the following level of teaching requires more active participation, more
imaginative and creative thinking?

foferad & 9 e & g TR R i aipy yrfieRY, 3ifde deumm=ita iR =TS IrF &
STaLIH T il 872
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Options:

1) reflective level
[EGERIK

2) memory level

fd TR

3) understanding level
qHAG DT IR

4) all levels

il TR

Correct Answer: 1) reflective level

[EGRLU]

Candidate Answer: 3) understanding level
HHY hI IR

QID : 702 - Pre-active phase of teaching includes
Rreror & gd-wfera =Ror § nfira §
Options:

) feedback and reinforcement

EEFGTT’F[ 3R ufagf®

2) sizing up of the class

HET P HDPR delHl

3) presentation of stimuli

JaoTS ! Ugfa

4) decision about the strategies of teaching

fRieror o1 Xurferal & R # g

Correct Answer: 4) decision about the strategies of teaching

fRieror o1 Xurfferal & R # Fofa

Candidate Answer: 4) decision about the strategies of teaching

fRrefur Y ol & SR # Fofg

QID : 703 - In which phase of teaching the knowledge which is given to student is evaluated?

g7 & foret =R & faemedf &1 & 7 3 1 waio foan S 872
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Options:

1) interactive phase

3id:- Tfpa (FeXfaeayaRum

2) post-active phase

iehd B & d1G BT aRT (IR - Ficha)
3) pre-active and inter-active phases
ud-ufa SR 3id: -Tfpg TR

4) pre-active phase

Ud-fehg TRUT

Correct Answer: 2) post-active phase

Hiehd B & §1G BT ORUT (IR - Alhd)

Candidate Answer: 2) post-active phase

ichd B & dIG BT TRUT (IR - Fihd)

QID : 704 - What questions would you ask Nelson Mandela in an interview? What level of Bloom's
Taxonomy is this question?

TH TITHR T 3T A HSAT I 1YY Y712 Tg U A & JIBR0T 7 o TR HT 82

Options:

1) Application

ST

2) Evaluation

L ICE]
3) Analysis
IERGLL

4) None of these

3T A BIS T

Correct Answer: 1) Application

ST

Candidate Answer: 4) None of these

T A PIS el

QID : 705 - To put ideas together to form a new whole is

foaRY &Y U 1Y IGHR U =18 JHUIT 51T &
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Options:

1) Evaluation

HAlh A

2) Synthesis
RGN

3) Analysis

oo

4) Application

Correct Answer: 2) Synthesis

REGL

Candidate Answer: 2) Synthesis

RGN

QID : 706 - An educational device where the teacher and students attempt in a conscious, planned
and purposeful effort to arrive at an explanation is known as

TS A A STeT e 3R BT U WHIHRU R Uga- & oIt T2, TeHTas 3R 35390 uamg
R T, IY BT I &

Options:

1) lecture method
IR fafd
2) story telling method

Dol Bed DI iy

3) demonstration method
TexH fafy

4) problem solving method
TrR w1y fafy

Correct Answer: 4) problem solving method
A Sy fafy

Candidate Answer: 4) problem solving method
TrR Sy fafy

QID : 707 - Which of the following is the characteristic of conceptual approach?

fofifead & @ o9 daie e ot faRvar g2 daeay
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Options:

1) In this approach, things are learnt, in very detailed form regarding its principles, mechanism,
application etc

39 =¥ 8, ol &1 3TP Rigial, 77, U 3Nfe & SR H g fagd =0 § Tia Sirdr &

2) Different skills are used in order to learn new things

S <t Wien & for fafie wi=ral o1 Ui e ST §

3) It leads better learning in child

99 5 H YRe Y & SER Bt &

4) It involves all cognitive, effective and psychomotor domains

= Tt IIHTES, WIS 3R TARRRI AT &5 T &

Correct Answer: 1) In this approach, things are learnt, in very detailed form regarding its principles,
mechanism, application etc

g =B H, RSl Bl 3P Rigil, 77, Iy 31 & IR H 9gd fakgd =0 § TRar o 8

Candidate Answer: 1) In this approach, things are learnt, in very detailed form regarding its
principles, mechanism, application etc

39 =PI H, =il &Y 39 Rigidl, o7, 3RuENT 3fe % R § §gd favgd &u § g wien &

QID : 708 - While teaching the topic on "Our Friend-Birds' to class Il students, Nalini followed the
following methodologies. I. Showing a documentary film on birds. Il. Using a chart having pictures of
different birds and explaining briefly. lll. Taking the students to the nearby park and asking them to
observe the birds carefully. Nalini is using different approaches of learning in order to

Tt e & fenfial o gAR el fawg uerd gwa afant 3 FRufafRad ugfaat o urem e 1.
ufern W Ue Siegid fthe foam 1. faft uférdt & felt arar aré &1 ST v SiR Ty o w0
|||.ﬁaﬁﬁﬁ;m%m&ﬁéwqm@faﬁmﬁé@%aﬁmﬁ%ﬁ@ﬁ%%ﬁwaﬁﬁw
JUANT B gl

Options:

1) follow her lesson plan

JYD! UIS TSI BT UTer BT

2) meet different requirements of learners having multiple intelligence
Ig-gfg aral et ot fafte sraxaswarstt &1 g1 w1

3) impress other teachers and parents

317 et SR SfUIGeH! B gvIfad HxT

4) promote reasoning skills in the students

BE H dP HINA BT g¢ral T

Correct Answer: 2) meet different requirements of learners having multiple intelligence

T5-9fS I Rrenfit &t ol sraxaddrsil o Q-1 FH=e

Candidate Answer: 2) meet different requirements of learners having multiple intelligence

Ig-gf ol FRI&RIaT &1 fafirer snraeaearal 1 qR1 =l
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QID : 709 - Principles involved in lesson planning are all except
16 Ao & 2nfie Rigial § 9 foh e & sigas vt §
Options:

1) clarity of objectives
Il BT Wyl

2) knowledge of teaching
fRr&r01 &1 9

3) rigidity of planning
IS BT HSRT

4) knowledge of pupils

faenfifal o1 39

Correct Answer: 3) rigidity of planning

IS B HoRdl

Candidate Answer: 2) knowledge of teaching
TR0 b1 ;I

QID : 710 - Project-based activities is an example of

GRAeHT SR Tfafert 35T T Iareru g

Options:

1) Explore
AT BT
2) Engage
SRPASEl

3) Explain
Y HAT

4) Elaborate

favqa s

Correct Answer: 4) Elaborate

faeqd &1

Candidate Answer: 1) Explore

3N HIAT

QID : 711 - Who is the father of micro teaching method —

geA Rreror fafy & 5 HH R -
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Options:

1) Pack and Tucker

U 3R TH

2) Mac Callan

A Pla

3) Clift

[ESES

4) D.W. Allen and Keith Aitchison
&) Sy, T SR Py T

Correct Answer: 4) D.W. Allen and Keith Aitchison
& 3, TaH 3R BY THRH

Candidate Answer: 4) D.W. Allen and Keith Aitchison
31 ssg, UaH 3R By TR

QID : 712 - The advantage of group discussion is
0 fSEh e &1 Brer ®
Options:

1) It highlights the multi-dimensionality of the issue under discussion.

g T & dgd He, I Sg3amidl IR U STed ¢ |

2) Its have availability of equipment under discussion method

2o gt Ugfd & d8d SUSRUI &I JUSIT §

3) Less equipment and fewer materials are needed by an instructor

TS URIe B HH IUBR AR HH YA B SMaTehdl 8l &

4) The knowledge gained in this method is directly through the efforts of child.
29 fafy 7 o 3 WY 9= &S el  urd g |

Correct Answer: 1) It highlights the multi-dimensionality of the issue under discussion.

Ig T & ded T, ! SgATATHIIT TR U1 STeral 8|

Candidate Answer: 4) The knowledge gained in this method is directly through the efforts of child.
39 fafd & v 71 S S & vt T @i 2
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Options:

1) Curriculum
UIddehH

2) Practice
S

3) Flexibility

4) Resources
BRIVE]

Correct Answer: 1) Curriculum
EIGDER

Candidate Answer: 3) Flexibility

REINIEE

QID: 714 - exhibits a basic level of order, but the teacher still struggles to maintain it.
AR & FAATE TR B USRI Hdl 7, A R oift oft 38 g0 a1 & fere wed

FRAT g

Options:

1) Adequate classroom environment.
ERISEZACIRICRYS

2) Orderly restrictive learning environment
TR YfaseTs IReH BT AT

3) Orderly enabling learning environment
YT ¥ § YW e B TR

4) Dysfunctional classroom environment

fAfspa we araraRo

Correct Answer: 1) Adequate classroom environment.
T HEfT AR,

Candidate Answer: 3) Orderly enabling learning environment

HafRId ¥ ¥ & Freq &1 A

QID : 715 - Literal meaning of supervision is

T&0 BT Y 31 B
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Options:

1) Superior knowledge and power
98 T 3R fekd

2) Superior knowledge and service
IR T SR JaT

3) Superior efforts and services
S8R YA Td YaTd

4) None of these

T A BIS Tl

Correct Answer: 1) Superior knowledge and power

Y I 3R Wfda

Candidate Answer: 2) Superior knowledge and service

JEAR I 3R JaT

QID : 716 - The intervention needed for creative and talented children in the classroom rests on-
FHef o Yo 3R UfAUTRITER sdi & forg 3T gwaad ek BT § -
Options:

1) use of customized and stimulating instructional methods by the teacher
& GRT 3BT 3R ISP =M alid! b SUAN IR

2) giving extra time to them

3o sifafvad 99y fau o1 )

3) being affectionate towards them

7o Uid Tl 814 & Ald W

4) giving them the responsibility of teaching other children

32 3 <dl ) UgM Bl e A W

Correct Answer: 1) use of customized and stimulating instructional methods by the teacher

e/ GR1 3G 3R IR A adie! & ITaT R

Candidate Answer: 4) giving them the responsibility of teaching other children

3% 30 g5 Bl UgH Bl SR 39 R

QID : 717 - The children in a class can be considered to be motivated if-

P& H T=a! Dl URT THHT S bl § Tl -
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Options:

1) they come to school neatly dressed in uniform
9 3=l d¥e 9 adf UgH el H 3Md §

2) they maintain discipline in the class

J BT B SR 1Y & §

3) all are regular in attendance

3 mft Sufufa & Fafia §

4) they ask questions seeking clarification from the teacher

3 e T WHR0T U R & fole U= g §

Correct Answer: 4) they ask questions seeking clarification from the teacher

3 e & TR0 Ut R & o U= gmdl §

Candidate Answer: 3) all are regular in attendance

3 o+t SufRfa & Frafa §

QID : 718 - The knowledge of counseling skills is essential for teachers
WY SN BT I &bl & R siaas &
Options:

1) to promote student learning and well-being

B & G SR HedT0] I FgTaT o & o1y

2) to prepare weekly lesson plans

TR UTS TSI dOR HRA & forg

3) to collect data

ST THA XA &

4) to guide the student in possessing technical competence

B DI THI! Gefdl U B H ANfeRiF = & fow

Correct Answer: 1) to promote student learning and well-being

BE & R 3R BT BT FGIaT a1 P fog

Candidate Answer: 1) to promote student learning and well-being

BE P TG 3R S0 Dl FGIaT o & oIy

QID : 719 - A teacher should prepare teaching points because these help him/ her

T R 31 R fdg daR 37 A1feT Riffd 398 I 7ag firerd §
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Options:

1) in saving time

g S o

2) in maintaining discipline in the class
D&l T SR ST 3@ §

3) in knowing what to teach in the class
gg S § P&l H 1 UM §

4) in making teaching effective

fR1er01 1 gy 9 & for

Correct Answer: 3) in knowing what to teach in the class
I8 WA | el § T UgHT §

Candidate Answer: 3) in knowing what to teach in the class

g -1 § pem H T UG 8

QID : 720 - The objective of education is to-
e &1 3524 -

Options:

1) create persons who are useful for the society
U fgat &1 Fsfor w3 S g & forg o &,
2) create learned citizens

fagr AR &1 fAafor w3

3) create sensible citizens

TSGR RN S0 §

4) All of these

g qaft

Correct Answer: 2) create learned citizens

fagr et @1 Rt &Y

Candidate Answer: 4) All of these
g gt

QID : 721 - Limited to the quantitative description of the pupil’'s performance is?

BF P U= P AETHSD fgavur g Hiferd 82
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Options:

-—
~

Test

&

2) Measurement
H9q

3) Assessment
3Teh el

4) Evaluation

HAIh A

Correct Answer: 2) Measurement
Ha-q

Candidate Answer: 2) Measurement
HIUq

QID : 722 - Assessment for learning occurs:

T F fore Yeuies fpan S &
Options:

1) end of the unit

SHTS BT S H

2) before teaching learning process
fRraror siferTe ufehan | gl

3) throughout the learning process

e &1 ufshan & SR

4) None of these

3T A BIS Tl

Correct Answer: 3) throughout the learning process

e ) ufepan & SR

Candidate Answer: 3) throughout the learning process

e &1 ufshan & GRH

QID : 723 - An ongoing dialogue between the teacher and the student during the learning process is a
characteristic of:

Ura &) Ufshar & SR e 3R BT P o9 Id I8 JIG B! U faRvar g
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Options:

1) Formative assessment
RITHD 3{Thcld
2) Summative assessment
IS 3T
3) Diagnostic assessment

3Teh el
4) Norm-referenced assessment
HFD-TafHd b

Correct Answer: 1) Formative assessment
IIATHD HTh A

Candidate Answer: 3) Diagnostic assessment

EIRCAI AN

QID : 724 - Psychological foundation plays its role in the development of curriculum keeping in view
the:

et BT HAIGRIAD YR ..o B & § [ gU 37T YAHT T 8:
Options:

1) Student’s needs
BN DI ST

2) Student’s interest
ElEIEIRIE!

3) Student’s capabilities
S| 1 &Hamy

4) All of these

gt

Correct Answer: 4) All of these

Tt

Candidate Answer: 4) All of these
it

QID : 725 - Sociological foundations are concerned with:

ARG 3MYR e §:
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Options:
1) History

2) Economy
SfeferraR
3) Society
HS

4) Idea
ICEIN

Correct Answer: 3) Society
HTS

Candidate Answer: 3) Society
HS

QID : 726 - Which of the following is not a technique of teaching?
fFrafafad & & $ & Rieor ) ot 78 82
Options:

1) Drilling technique
ISIRERIEE

2) lllustration

fem

3) Dramatization
BIRCARE|

4) Kindergarten

CISEIE]

Correct Answer: 4) Kindergarten

STaarst

Candidate Answer: 1) Drilling technique

fgfer dep-ier

QID : 727 - Which learning theory provides support for active participation of learner in the learning
process in an interactional setting with intrinsic motivation as the basis?

P a1 e Rigia W ot ufesar & fRramdf &1 afea wrfer) & T enyR & =0 7 3iidie IRum &
1Y 3ia:fparare AT § Terar ueH HRdl 22
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Options:

1) S-R Theory of Watson
JIeH DT TH-3R Ryegid
2) Reinforcement Theory of skinner
PR &1 gear Risia
3) Constructivist Theory of Vygotsy
IRATI BT TTaTG! Rigid

4) Insight Theory of Kohler

DIeR BT e Rigid

Correct Answer: 3) Constructivist Theory of Vygotsy

I BT TFATaTe) Rigid

Candidate Answer: 4) Insight Theory of Kohler

DIeaR BT faey Rigid

QID : 728 - Which of the following methods can be used quite frequently in classroom?
frafaRad & @ forg fafyy &1 wRim Fen o IR-SR fo5an o 91 g2
Options:

1) Case study
A BT 3T
2) Observation
N CRICE]

3) Experimental

P IRIIRIED

4) None of these

3T A BIS Tl

Correct Answer: 2) Observation

Candidate Answer: 3) Experimental

PIplRca

QID : 729 - Which of the following is an example of audio aid?

ST Q B T 4o G BT Ueb ITeR0 22
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Options:

1) Linguaphone
feRTemmA

2) Maps
EIEICE]

3) Epidiascope

4) Flash-cards

SR
Correct Answer: 1) Linguaphone
feRpame

Candidate Answer: 1) Linguaphone

feRTemmA

QID : 730 - Teachers should carefully plan and visualize the use of aid material
et o1 TS It & IUURT Bt QraUTgdes JIoHT SR HeuT B! AfeT
Options:

1) to produce effective citizens
THIA ANTRS] & IJdTeT B & oy
2) after its actual presentation

TP ARAAD Ul &b a1

3) before its actual presentation
YS! IRAfAD Udfd ¥ Ugd

4) to collect information of the pupils

faenffal &t SR} ted B & forw

Correct Answer: 3) before its actual presentation

B! aRATaP TRdfA F g

Candidate Answer: 3) before its actual presentation

P! ARAAD Udfd I Ugd

QID : 731 - Mahatma Gandhi launched Kheda Satyagrah on Gujrat in 1918 to support the cause of :

TRTe et 7 forads ImdF o 1918 T ToRTd # WS YAWE L= foha:
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Options:

1) Mill Owners
[ERESIINES
2) Land Lords
ey <@t
3) under the leadership of Lala Lajapat Rai
ATl AT I & Aqed §
4) under the leadership of Hansraj Rahbar

RIS R &b Aqd H

Correct Answer: 2) Land Lords

¥y Tt

Candidate Answer: 1) Mill Owners

e wfere

QID : 732 - Which one of the given options was the first National Park established in India?
U 7T fasedl # ¥ D1 91 WRA # RITT Ugen AP IeH UT?
Options:

1) Kanha National park
BIE1 AP I

2) Dudhwa National park
T I S

3) Jim Corbett National park
fom Pide AxMd Ut

4) None of these

3T A BIS Tl

Correct Answer: 3) Jim Corbett National park

519 Pide AHd uTh

Candidate Answer: 3) Jim Corbett National park

59 Pide Az uTh

QID : 733 - Which institution is responsible for making laws in India?

YR H FHTH T &1 oiieR! forg I o1 82
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Options:

1) President of India

HRd & Ayl

2) Parliament

e

3) Election Commission
AT SANT

4) Supreme Court

S dH T

Correct Answer: 2) Parliament
BSR

Candidate Answer: 2) Parliament
qdq

QID : 734 - Which of these leaders was associated with the Swaraj Party?
0 T B a1 TR Ul 9 A2
Options:

1) Mahatma Gandhi
T TRt

2) Chittaranjan Das
feroe g

3) Jawahar Lal Nehru
ECIRRGINERNS

4) Subhash Chandra Bose
U I 9

Correct Answer: 2) Chittaranjan Das

[ECESRECAL]

Candidate Answer: 4) Subhash Chandra Bose
U I I

QID : 735 - Which is the governing body of the Department of Atomic Energy in India?

YR B TR Holf fHFT &1 Wit Feera 19 a1 82

GET IT ON
Google Play
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Options:

1) Atomic Energy Commission of India
YR BT TRHTY] STl AT
2) NITI Aayog

3) Department of Space
3faRef faHmT

4) DRDO

SreReSten

Correct Answer: 1) Atomic Energy Commission of India

YRd BT URATY] S5l SHTART

Candidate Answer: 1) Atomic Energy Commission of India

YR BT IRHTY] STl AT

QID:736-A is a place where we find food and game stalls.
I8 VM ¢ 98l 84 4o ok ¥d & ¥eld fad g
Options:

1) circus
BEa

2) monic hall
i gl
3) fair

el

4) school

¥R

Correct Answer: 3) fair

el

Candidate Answer: 3) fair

el

QID : 737 - How many players play in a basketball team at a time?

s SR&eaid A H Th 99a | o faarst 9ad 82
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Options:

Correct Answer: 2) 5
5

Candidate Answer: 3) 2
2

QID : 738 - The most significant and essential mineral required for our body is
AR IRR & AT HTI2ad Gad Aedqul 3R e Wiel gl
Options:

Iron

-—
~

&

2) Sodium
qifean

3) Calcium
HieraH

4) All of these
gt

Correct Answer: 4) All of these

Tt

Candidate Answer: 4) All of these
gt

QID : 739 - Rehana goes to Kerala along with her family. There she sees tall trees which are very
different from those in her hometown, Shimla. Which trees could she have seen in kerala?

QM 30 URAR & 1Y B Sl 81 T8T 98 Fa-3d IS <! § o ISP TR Rl & Usf § §gd
T 8| I PR H B J Us T3 812
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Options:
1) coconut
BRI
2) apple
ISE]
3) litchi
NIE!
4) pine
Correct Answer: 1) coconut
BIREK
Candidate Answer: 1) coconut
BRI

QID : 740 - Which food group is composed of high fibre foods like granola, whole wheat bread, and
oatmeal?

DI 1 QT THE I, Tigd g B 98 3R Sfer ol I BIgeR WM Uerdf § 41 872
Options:

1) Grains

ST

2) Meats and beans
Y 3R ¥H

3) Vegetables
Hfeorar

4) None of these

T A DI T

Correct Answer: 1) Grains
S LIS

Candidate Answer: 3) Vegetables
fesrar

QID : 741 - The complementary angle of angle 80° is-

80° & PHIUT HT P HIVT &-
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Options:

1) 80
80

2) 180
180
3) 360
360
4) 10
10

Correct Answer: 4) 10
10

Candidate Answer: 4) 10
10

QID : 742 - A square pyramid has
% geR RIS & - gl
Options:

1) Four faces
IR Bdd

2) Three faces
GIRRSASED

3) Five faces
PELtaNCa

4) None of these

3T A BIS Tl

Correct Answer: 3) Five faces
LD

Candidate Answer: 4) None of these

T A DI T

QID : 743 - The greatest common multiple of 16 and 20 is-

16 3R 20 BT HgTH JHYATID o8-
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Options:

4) None of these

PIs el

Correct Answer: 2) 4
4

Candidate Answer: 2) 4
4

QID: 744 -10+ 2+ 1/10 + 2/100

10 +2+ 1/10 + 2/100
Options:

1) 128.12
128.12
2) 18.12
18.12
3) 16.12
16.12
4)12.12
12.12

Correct Answer: 4) 12.12
12.12

Candidate Answer: 4) 12.12
12.12

QID : 745 - A tabletop measures 2 m 25 cm by 1 m 50 cm. What is the perimeter of the tabletop?

U Tqdely &I AT 2 Hiex 25 JHT x 1 Hiex 50 AH g1 STy it uRfY 1 g2
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Options:

1)7.5m

7.54t

2).75m

754t

3) 75m

754!

4) None 0f these

3T A BIS Tl

Correct Answer: 1) 7.5m

759

Candidate Answer: 1) 7.5m
7.5

QID : 746 - Choose the correct option instead of the question mark in given question.
FMPW : UNKD :: HTDJ : ?

fou T v § yReare s g & M R 98 fadwedl & |

FMPW : UNKD :: HTDJ : ?

Options:

1) QWGS
QWGS
2) SGWQ
sGwaQ
3) QUTY
QMTY
4) SWQG
SWQG

Correct Answer: 2) SGWQ
SGWQ

Candidate Answer: 4) SWQG
SWQG

GET IT ON
Google Play
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QID : 747 - In the given number series what number will come in place of the question mark Symbol.

0,7, 26,63, 124, ?
& M T SRaa § URard g & ©IF W I - I We o |
0,7, 26,63, 124, ?

Options:

1) 201
201
2) 205
205
3) 211
211
4) 215
215

Correct Answer: 4) 215
215

Candidate Answer: 4) 215
215

QID : 748 - B is the Aunt of C. A is the Husband of B. B is the sister of D. Tell how A is related to D?

BCHI T2l ABPBIUARIBD P IgIe NABI DA FTNIAR 2
Options:

1) Uncle

EIEll

2) Brother-in-Law
SISl

3) Niece

HlTolT

4) Son

kel

Correct Answer: 2) Brother-in-Law

St

Candidate Answer: 2) Brother-in-Law

St
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QID : 749 -

Which figure represents the relationship between creatures, human and planets?

i, #qea o aw & &9 § dau & Bl @ el weitia wdr ¥

A) B}@O cu@ o) ()

Options:

1) Option (A) is Correct
fowea (n) W T
2) Option (B) is Correct
fowea (B) wEl T
3) Option (C) is Correct
fawed (C) 21 B
4) Option (D) is Correct
fowed (D) w1 &

Correct Answer: 2) Option (B) is Correct

fasey (B) W81 &

Candidate Answer: 1) Option (A) is Correct
fadwer (A) T8 ©

QID : 750 - Identify the word, that cannot written by mixing the Letters of a given word ?
COMMANDER

T U T W1t & 3Rl b1 fArarens gt foraT o1 Fehal,
I8 Weq UgTH ?

Options:

1) Come
Come

2) Dancer
Dancer

3) Race
Race

4) Record
Record

Correct Answer: 4) Record
Record

Candidate Answer: 4) Record
Record

GET IT ON
Google Play
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